GR 11 REVISION:  GEOMETRY
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8. In the diagram A, D, C, K, F and G are
points on the circumference of the circle.
AK L CF, DC | AK and DA | CG.
DAC=yand BAC=x.

Prove th
81 F=x+y
82 ARC=90°.

9. Inthe diagram, AOB is the diameter of the circle
with centre O. D is a point on chord AC, so that
DA =DO. OD is produced to E. AF is the
bisector of BAC and cuts BE at G,

Prove that:
9.1 GA=GB

92 AOGE isa cyclic quadrilateral

9.3 IfCand E are joined, then CE | FA.
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10. In the diagram, TA and TB are
tangents to the circle with centre O
TQP is a secant and chord AC is
parallel to QP. QP cuts AB and
BC at H and K respectively.

Prove that:
10.1 AOBT is a cyclic quadrilateral
102 TRB =TAB
10.3 AKBT s a cyclic quadrilateral
104 TAisatangent to the

circle AHK.
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11 In the diagram, AD and AE.
are tangens 10 circle DEF, The
straight line through A, parallel
10 FD, meets ED produced at
Cand EF produced at B, The
tangent AD cuts EB in G,
1L Prove that ABDE s a

eyelic quadrilateral,
Ifitis also given that
EF = DF, prove:
112 AE=CD
113 ABC isa tangent to the
circle BFD.
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12. In the diagram ABC is
a triangle. The circle
with AC as diameter cuts
ABand BCatE and D
respectively. The tangent
at D to circle BDOE
cuts AC at X, and BY
is a tangentat B to
circle BDOE.

123 X is the midpoint
of AC
124 BY ||AC.
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13. In the diagram, BOD is a diameter of
the circle with centre O. BA and BC are
chords of the circle. BA produced and CD
produced meet at T and AD produced and BC
produced meet at S. Prove, with reasons, that
13.1 ATSC is a cyclic quadrilateral
132 ADB =ATS
13.3 OA is a tangent 1o circle ATSC.

14. In the diagram, two circles cu
points F and D. BFT is a tangent to
the smaller circle at F. Straight line AFE
is drawn so that FEE = FD. CDE is a
straight line and chords AC and BF
intersect at K. Prove that:
14.1 BT||CE
14.2 BCEF is a parallelogram
143 AC=BF
14.4 BF is a diameter if it is given that

AF=FE.
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15. In the diagram, TD is a tangent
o the circle ABCD. AD || BC.
AB and DC produced meet
at W TBS is a straight linc.
IrWi 3D, prove that
15.1 BWTD is a cyclic
quadrilateral

152 TBS is a tangent to the
circle ABCD

153 TW || BC.
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Exercise 5
1. ABisa chord of

acircle with centre O and
AB =24 em. M s the midpoint of AB,
ITMD = 8 em, caleulate the radius of the circle.
o
}i '
T

2. MXis a diameter of the circle with centre O

and chord BC = 30 em. If TOMX L BC and
OM = 2MX, caleulate with reasons:
2.1 TB (correct 0 one decimal place)
22 the radius of the circle MTD
(correct to one decimal place)
8

X
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3. In the diagram, AB is a chord of the circle with
centre 0. OD is drawn perpendicular to AB and
meets the circle at C.
31 20C. DC.
32 Ifitis also given that OA = 9 units and 9
OD = 1 unit, calculate the length of BC. A 5 B

4. In the diagram, O is the centre of the circle,
AB=BCand ¢

4.1 Determine ABO in terms of x.
4.2 Prove that OB bisccts ABC.
43 IfOT:TB=1:3and OA=
determine AC in terms of 7.

AB s the diameter of a circle with centre P
Chord CD is perpendicular to AB and cuts
AB at O. Chord DE cuts AB at F. CE, CB,
DB, PC and AC are drawn. Prove that:

51 CBO=DBO

52 CED=2CBP

53 CEFPisacyclic quadrilateral.
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6.

1.

In the diagram, FE is a tangent to

the cirele with centre O. D and F are
joined so that EG = GF
6.1 1Py =x, prove that DE =
6.2 Express DOE in terms of x.

In the diagram, AK is the diameter
of the larger circle and AOC is the
diameter of the smaller circle with
centre 0. KO produced cuts the
smaller circle at S. BO, BS and BC
are drawn, IfKSB =x, prove that:
71 KAB=2¢

72 BCA=x+45°

73 ARS=45°-





